AIPOWER-FAB

DPW |SOLAR

@ PREFORMED LINE PRODUCTS

Bonding Clip Installation Guidelines

Bonding Clips are
designed for one
time use only. After
torque pressures
have been applied,
they cannot be
removed and re-
used. If removed, it
must be discarded
and replaced with a
new Bonding Clip.

Electrical hazard
will exist if Bonding
Clips are not
installed per these
instructions. Failure
to do so could lead
to severe personal
injury or death.

All surfaces that
mate to the Bonding
Clip must be free of
burrs or debris from
drilling or other
actions which could
interfere with the

electrical bond.

Bonding Clip Installation Guidelines, Version 1, Rev A, PCN 031513-1

These guidelines show the proper installation
of our Bonding Clip when used with either 2

our Strongback or a Purlin installation. ./

When used with our Strongback, the ~ -
Bonding Clip is pre-assembled at the factory Rail Base ~ 4 .
along with the Rail Base and Rail Clamp. If . '_‘/
the Bonding Clip is used with a Purlin, the
Bonding Clip gets assembled in the field
along with the Rail Base, Rail Clamp and
hardware. These guidelines illustrate both
situations.

Bonding
Clip

Figure 1: Bonding Clip and Rail Base

Figure 1 shows the relationship between the Rail Base and the Bonding Clip. The
bonding Clip must be oriented as shown to achieve the desired electrical bond.

Using the Bonding Clip with our Strongback

Although the Bonding Clip arrives pre-assembled/installed from the factory; for
clarity, Figure 2 shows how the Bonding Clip is assembled and attached to the
Strongback.

Rail Clamp
5/16" Flange Nut\@ﬁ (Rotated for
- ease of Rail
installation) :Sp

Rail Base

/ Bonding %
\ 5/1 6" Cl|p \'__.._j
Carriage
Strongback Bolt

W\

Figure 2: Attaching the Rail Base and Clamp to Strongback

10f3



ZBOWER-FAB’

Securing the Module Rail to the Rail Base and Clamp

A. Install Module Rail ensuring that it nests into the Rail Base as shown in
Figure 3.

B. Rotate the Rail Clamp, nesting it onto the opposite side of the Module Rail.
substrate.

C. Torque the two 5/16" Flange Nuts to 15 ft.-bs.

PV Module Rail
Torque 5/16" =
Flange Nut
to 15 ft-lbs. Eg}laglamp
(2-places) 180-degrees

Rail Base -

Strongback

Bonding
Clip

Note: For purposes of this illustration short sections of Module Rail and Strongback are shown.

Figure 3: Installing the Rail (Strongback application)

Using the Bonding Clip on a Purlin application

The Bonding Clip is assembled as shown in Figures 4 and 5 when used with a
purlin. (See Figures 4 and 5)

A. Install Module Rail ensuring that it nests into the Rail Base as shown in
Figure 4.

B. Rotate the Rail Clamp, nesting it onto the opposite side of the Module Rail.
substrate. (See Figure 5)

C. Torque the two 5/16" Flange Nuts to 15 ft.-1bs.

Bonding Clip Installation Guidelines, Version 1, Rev A, PCN 031513-1 20of 3



ZBOWER-FAB’

Bonding Clip Installation Guidelines, Version 1, Rev A, PCN 031513-1

5/16" Flange Nut—" 5 Rail Clamp
- — (Rotated for ease of

Rail installation)

Rail Base

@

5/16" Flat Washer\

5/16" Hex Bolt \& S

B\

Note: For purposes of this illustration short sections of Module Rail and Purlin are shown.

Figure 4: Attaching the Rail Base and Clamp to Purlin

PV Module Rail
Torque 5/16" \
Flange Nut
to 15 ft-lbs. Rotate
Rail Clamp

‘= ; \ 180-degrees

(2-places) \@ e .
L 7 .."-‘-r

—

—

Rail Base

Bonding
- Clip

Purlin
W\

Note: For purposes of this illustration short sections of Module Rail and Purlin are shown.

Figure 5: Installing the Rail (Purlin application)

3of3




PREFORMED
LINE PRODUCTS

Direct Power & Water Corporation
4000-B Vassar Drive NE
Albuquerque, New Mexico 87107
USA

Telephone: 800.260.3792

Fax: 505.889.3548

Web Site: www.DPWSolar.com
E-mail: inffo@power-fab.com

Preformed Line Products
(Canada) Limited
1711 Bishop St. E
Cambridge, ON N1T 1N5

Telephone: 519.740.6666

Fax: 519.740.7917

Web Site: www.preformed.on.ca
E-mail: sales@preformed.on.ca

© 2013 Preformed Line Products
PCN 031513-1
Version 1, Rev A



